

PP40318

DANIEL SITARU - ROMANIA

Prove that if $a, b, c \in (2, \infty)$ then:

$$\sum \ln(a-1) \ln(a+1) < \ln(a^{\ln a} \cdot b^{\ln b} \cdot c^{\ln c})$$

Solution by Rousen Pirgulyev - Azerbaijan.

Applying the inequality $ab \leq \frac{(a+b)^2}{4}$ (AM-GM $\rightarrow 2\sqrt{ab} \leq a+b$), we have:

(1)

$$\ln(a-1) \ln(a+1) < \frac{(\ln(a-1) + \ln(a+1))^2}{4} = \frac{(\ln(a^2 - 1))^2}{4} < \frac{(\ln a^2)^2}{4} = \ln^2 a$$

Then we have:

$$\begin{aligned} \sum \ln(a-1) \ln(a+1) &< \ln^2 a + \ln^2 b + \ln^2 c = \ln a \cdot \ln a + \ln b \cdot \ln b + \ln c \cdot \ln c = \\ &= \ln(a^{\ln a}) + \ln(b^{\ln b}) + \ln(c^{\ln c}) = \ln(a^{\ln a} \cdot b^{\ln b} \cdot c^{\ln c}) \end{aligned}$$

□

MATHEMATICS DEPARTMENT, NATIONAL ECONOMIC COLLEGE "THEODOR COSTESCU", DROBETA
TURNU - SEVERIN, ROMANIA

Email address: dansitaru63@yahoo.com